EARAROBEEIERT — 2 N— IBISH —F

2017437198 (B) 1EIBR#H8H

Ll Y > %*4mtE 50078 TF (B&

)

HEE] EE

(xwlw | lmEmml - |2 5 2om 8

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 337 :1,900,000F 43 :1,100,000 " ~ 5 & :750,000 9

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; N it 4 | SERAEA 2:26.8 1-1-1-1 |35.2| 93.6 | 9 496 | BELH (ER)
11717 4TIy 7T7H— * A53.0 (-) (-2) ANIIE!
RFHYRTIRE BUART I HEAEES
- 4 4 | HEAKHE— 2:27.0 9-9-9-8 [33.8]93.0 | 5 394 |FER (BEW)
0 2 ®RTAIVTH—2— 54?0 (1 1/2) o) | D EFH - Tu—g-x . 2=4
L:xLThHANAN By RTSFF L BASS
5 st 4 | JIIEASH 2:27.0 7-7-7-6 | 34.0| 93.0 | 2 448 | WIIFE (RR)
el 6 FIEER R GrEY T 56.0 (7E) o | B IZTFoL=YT
RFA—TANT N BiFARIT Y J—HrT L
o v € 4 | HEHHE 2:27.1 6-5-56 |34.1| 91.9 | 6 480 | EFEFE (RR)
4|5|5|EvVeh—+H “ 7| asso (7¢ () |ERRHILY
Rt/ BiF4vY—-Y 4R J =% Ty — I
SL s 4 4 | C. IbxX—J 2:27.8 8-8-7-8 |34.6| 84.4 | 3 454 | FIRFE (BR)
5I1[1|Y¥YvIeA—N 54.0 @ o) | EBAEHD ()
LN—=v9734 B:v—XTYrtX N 45035
5 5 4 | EHRH 2:27.9 3-3-3-3 [35.2| 82.1 | 1 502 | FEMES (5ER)
] : AR AR =) A ED (1/9) ) | ) HAL—ZK-x
RivNygLhTr B:SU-—X> () #A3I—-KL—Ya>@AET 7
T 4 | ARR— 2:28.1 3-5-5-4 |35.2| 80.0 | 8 182 | BBE—% (ER)
71818 ®@~YaARMHT/Ny R 56.0 (1 1/2) o) (%) T4 7= b
L XZH7r R B:vabha-7> HO %8k
; 4 5 | SHEA 2:28.4 3-3-3-4 | 35.5| 77.1 7 506 | RiEREK (ER)
EH 3 77— kb 57.0 (1 3/4) (+8) K EFTHE
L:xA1=Zd7—2 B:ovIIvRE2AI SZvae]
. £ 4| RE 2:28.4 2-2-2-2 | 35.8| 77.4 | 4 468 | AEHEN (ER)
9/8lg| TIWUX b - 56.0 (zE) -2) (H)81V—>>7
RIRINyBEHTT BT ANSTARZ1— BAT 7 — L
@ 71 L
) 47.3-35.2
NO24 L | 12.9-11.4-12.7-12.5-12.5-12.5-12.5-12.5-12.1-11.2-11.6-12.4
@ 1—F—@&BIEf
13=7r= 7-9(3,4,8)5,6,1,2
20—+ — 7-9(3,4) (5,8)6,1,2
30—4— 7=9(3,4) (5,8) (1,6)2
40—F— |7=9,4(3,8) (5,6) (1,2)
[ RN
BB 7 11,560M 714K 2-7 6,830 e & 2-7 19,370 &R 2-6-7 31,930
8 B 7 1,620 6-7 5,410 B & 2-7 29,0504 3B 7-2-6 381,060M
2 180M4 2-6 460 B H 7-2 68,240
6 1509

ABICOVWTRDTEEERROODE. TR LIV,




